m(ptp”) (Az) [%] (4s) [%] (Aa) [%] (4s) [%] (A6) (%] (A7) [%] (As) (%] (Ao) %]
[MeV/c?]

D %= rtaptus

<525 —10+£ 14 £2 2+16+1 —7+16 +2 164+ 14 +1 0+£14£1 —10+£ 14 £2 3+17+2 —25+16 £2
525-565 - - - - - - - —
565-780 ~1.1+41+1.9 5.7+£48+0.7 06+£49+07 -30+41+1.1 —48+414+1.0 -3.5+414+1.0 -18+49+1.2 1.6+49+1.1
780-950 —7.7£5.840.6 3.9+£6.9+08 1.24+6.94+0.7 -3.3+£58+1.0 04+£58+1.0 -26+58+06 —51+6.9+1.5 —29+6.8+1.0
950-1020 23£3.7£0.7 22+43+£2.1 76£43+09 3.6£37£1.2 45£37+£1.1 35£3.7£09 27+£43+13 14+43+12

1020-1100 —4.843.4409 -26+4.04+1.2 24440410 -23+34+12 32434411 -1.3+£34408 514+414+-13 -594+40+£18
> 1100 - - -
Full range  —2.6+21+£07  09£25+0.5 13425405 —1.7+21409 —05+21+09 -1.5+£2140.6 03+25+1.0 —2.1+£2540.9

D 0= KK ptp
< 525 =31+ 15+2 41+ 17 +2 —23+ 18 +£3 13+ 14 +1 20+ 15 +2 —4+15+1 —15+ 18 £2 45+ 16 £2
525565 - - - - - - - -
> 565 2.6+6.6+0.5 28+80+05 —101+£7.9+0.6 02+68+1.3 —-12+68+0.5 4.7+68+05 —69+80+1.4 1.2+£80+1.2

Full range  —4.1£6.14+0.9 93+£74+08 -124+73+1.3 25+62+1.1 01+£62+1.1 29+63+£09 —68+74+1.2 11.2+£73+1.2




